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W BEM AT XEFARR 151% 75 2 67 3 3 0 0 76 6 61 3 0 0 1 5 0 70 68 0 2 0 15.4 63.7%
W BEM AT XEFARER 245518 51 3 46 1 1 0 0 51 18 29 2 0 1 0 1 0 33 32 0 1 0 173 65.9%
W BEM  |ATXEFARER 3 38 32 6 0 0 0 0 39 6 29 0 2 1 0 1 0 33 30 0 3 0 26.5 59.5%
W BAM  [ATUESARR At 109 1 105 0 3 0 0 109 8 97 1 0 1 1 1 0 101 101 0 0 0 8.5 59.6%
W BEM AT XERERER bfIR 47 2 36 2 7 0 0 44 15 17 3 0 2 2 5 0 29 29 0 0 0 179 58.3%
W BAT  [ATERA R 6fi 14 10 4 0 0 0 0 22 1 16 0 1 2 2 0 0 21 21 0 0 0 59.4 64.3%
(13 BAT | KRESHk 3 FERR 60 6 37 9 8 0 0 63 19 27 2 1 6 2 6 0 44 44 0 0 0 19.8 83.2%
(053] BAT | KRESHk ARSI - SBE BRI 20 13 1 6 0 0 0 23 5 4 0 0 0 2 12 0 18 18 0 0 0 1177 89.5%
10553 BEM | ARESHEER ARSI 10 6 0 4 0 0 0 6 1 1 0 1 1 0 2 0 5 5 0 0 0 139.4 87.5%
e AET  |ERFAREZRES LKk I s 1 1 0 0 0 0 0 2 0 0 1 0 0 0 1 0 2 2 0 0 0 262.0 91.4%
W AET  |ERFARSRES LKk 1 s 31 4 6 14 7 0 0 29 10 8 4 2 2 1 2 0 19 6 9 ‘ 0 38.2 83.8%
(ks3] AET |ERFALERES LKk 5548 11 10 0 1 0 0 0 8 4 1 1 0 0 0 2 0 4 2 1 0 1 285.8 88.8%
W AET  |EREA 2HCRS ©EHk EREERE 13 2 5 6 0 0 0 14 2 4 0 0 0 0 8 0 12 8 0 0 4 40.8 104.0%
W AET  |EREA £HCRS &Rk NEFELEFIEH 1 1 0 0 0 0 0 2 0 0 0 1 0 0 1 0 2 1 0 0 1 1147 104.0%
W AET  |EREA RS & HHk H3sl LR 7 7 i 37 1 19 15 2 0 0 38 2 21 1 7 0 1 6 0 36 20 1 0 15 25.1 93.4%
(k3] AET  |EREA RERFS FAERR — R 23 0 16 0 6 0 1 19 0 12 0 0 4 2 1 0 19 16 2 0 1 18.4 55.1%
e BB E B | 7 T BT R R AR IR E e — R 5 0 4 1 0 0 0 2 0 2 0 0 0 0 0 0 2 0 2 0 0 66.2 92.9%
10553 XA B | 7 BT R AR R AR IR E e R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 596.4 99.2%
W S BB RET | 540 1R 7 R A SRR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7.2 60.2%
W SRR | 540 F 1R B AR A 2P AR (ICV) 65 4 57 2 2 0 0 61 54 2 3 0 0 0 2 0 7 4 0 0 3 3.1 57.1%
W S BBAARE | 40 IR R A 2B AR 92 58 32 1 1 0 0 93 79 12 0 0 0 0 2 0 14 14 0 0 0 3.6 71.6%
W S BRAARE | 0B A R A SEHAR 102 24 73 0 5 0 0 102 7 57 34 1 2 0 1 0 95 60 0 0 35 15.2 88.0%
W S RRAARE | H 0 IR R e 4BE SRR 95 28 63 3 1 0 0 105 9 85 8 0 0 0 3 0 96 81 7 0 8 132 86.2%
W S B ARET | 540 1R 7 TR AL A 4B TSR 182 25 153 1 3 0 0 183 16 150 9 1 3 0 4 0 167 151 6 0 10 7.1 67.2%
W S B ARET | 540 F 1R 7 TR AL SRERAIR 92 26 65 1 0 0 0 97 4 72 17 0 3 0 1 0 93 69 7 0 17 106 77.8%
(3] s B AR | 540 18 7 AL SREFERIR 113 6 102 0 0 5 0 117 4 11 2 0 0 0 0 0 113 108 4 0 1 5.0 44.7%
1553 SEBEIA AR | 540 X 1R 7 AR A By 7 iR 12 2 9 1 0 0 0 16 0 4 0 0 0 0 12 0 16 16 0 0 0 196 67.3%
(1Ls3] S ERSE R BT | BE A A4 AL R R A0 4 B e itk 25 0 22 3 0 0 0 27 0 15 4 1 0 2 5 0 27 20 0 0 7 61.6 86.7%
(ks3] S HE)IBE |[EEUEA TRE )IBCC AR R 5 1 0 4 0 0 0 8 0 3 3 1 0 1 0 0 8 0 0 8 0 85.1 43.6%
W S EE)I 5B | E R G2 RARAR) || B e — i 40 0 26 6 8 0 0 40 10 27 1 1 0 0 1 0 30 30 0 0 0 157 77.6%
(k3] S EE) s B | G2 AR AR || B REFH 10 10 0 0 0 0 0 13 0 5 1 2 0 1 4 0 13 13 0 0 0 51.2 74.6%
W AT | 5170 E R A2 BRI R EERE 12 12 0 0 0 0 0 9 2 2 0 2 1 0 2 0 7 7 0 0 0 63.2 74.2%
A fPEEN AR | 1 FR ) E R4 BRI FR e — R 53 2 49 1 1 0 0 38 12 12 5 1 6 0 1 1 26 26 0 0 0 22.3 74.7%
= e AR | 8 1L R RERFE 6 0 2 e 0 0 0 7 0 1 0 0 1 1 4 0 7 6 0 0 i 198.0 65.1%
() EhEER | BiRELE S REHR 5 0 0 5 0 0 0 4 0 0 0 0 0 0 4 0 4 4 0 0 0 602.7 100.0%
e AL P o Fa6 s st (NICU) 6 0 0 0 0 6 0 8 7 1 0 0 0 0 0 0 1 1 0 0 0 40.4 88.9%
e flamEER | Bk Hb 7 | 7 Bes 19 10 8 1 0 0 0 23 1 3 4 1 0 0 14 0 22 19 0 3 0 225 69.0%
e LI EE P e 7 1 sy 106 21 85 0 0 0 0 106 29 75 1 0 0 0 1 0 77 77 0 0 0 9.8 76.0%
e ABHER | R AF R 7 | B s i 121 8 112 0 1 0 0 121 22 90 2 0 2 0 5 0 99 96 3 0 0 109 85.9%
e A BHER | R AF R 7 | 4B s 89 11 78 0 0 0 0 87 13 72 2 0 0 0 0 0 74 56 16 2 0 15.1 80.5%
e il mEER | R AR 7 1 2 s 160 2 158 0 0 0 0 161 11 150 0 0 0 0 0 0 150 150 0 0 0 7.9 89.9%
e flamEER | Bk Hb 11 s 67 12 54 1 0 0 0 69 12 55 1 0 0 1 0 0 57 56 1 0 0 179 80.7%
e VLB EE P o 1 OB 68 23 44 1 0 0 0 76 13 59 3 0 0 0 1 0 63 62 0 1 0 167 80.0%
e flamEER | Bk Hb BRI 87 23 62 2 0 0 0 84 13 66 5 0 0 0 0 0 71 68 0 0 3 9.9 82.9%
e flamEER | Bk Hb 9P f s (HCU) 23 1 10 2 0 0 0 26 23 3 0 0 0 0 0 0 3 3 0 0 0 9.0 87.9%
e i mEER | Bk Hb P8 Rsf I 12 6 106 0 0 0 0 107 12 91 3 0 0 0 1 0 95 92 3 0 0 16.2 91.6%
e e EE P 7 T B s 108 39 69 0 0 0 0 111 38 70 1 0 0 0 2 0 73 72 0 0 1 109 77.1%
e UL EE P e FE6h A (GCU) 10 7 0 0 0 3 0 9 3 6 0 0 0 0 0 0 6 6 0 0 0 20.9 50.4%
e A BHER | R AP R PSR f i 50 3 47 0 0 0 0 45 1 44 0 0 0 0 0 0 44 44 0 0 0 16.7 81.8%
e il mEER | R AP Hb B4R 63 15 46 1 1 0 0 61 14 43 3 0 0 0 0 1 47 46 1 0 0 175 66.0%
e A mEER | Rk Hb P 3P A iR 207 192 12 3 0 0 0 201 199 0 0 0 0 0 2 0 2 2 0 0 0 35 72.3%
e A mEER | Bk Hb B 1 6B 100 25 75 0 0 0 0 102 11 78 10 0 0 0 3 0 91 90 1 0 0 124 85.0%
e il mEER |8k Hb B 1 SR s IR 63 12 51 0 0 0 0 66 4 60 2 0 0 0 0 0 62 62 0 0 0 174 82.4%
e L E B P 1 ABEPE 41 3 38 0 0 0 0 44 12 27 4 0 0 0 1 0 32 32 0 0 0 29.0 88.5%
e L E B P o B 1 3BEPE 104 38 64 1 1 0 0 102 30 69 1 0 1 0 1 0 72 71 1 0 0 128 86.7%
e e EE P o 1 2B g 69 9 60 0 0 0 0 73 1 70 1 0 0 1 0 0 72 70 1 0 1 174 81.1%
e UL EE P 11 BEPAE 61 9 52 0 0 0 0 50 9 35 6 0 0 0 0 0 41 41 0 0 0 21.2 77.7%
e A BHER |H AP R 3 1 O o 107 5 102 0 0 0 0 107 9 97 1 0 0 0 0 0 98 98 0 0 0 10.4 83.1%
e UL B LT N o SR OEFIR 90 28 61 1 0 0 0 92 22 67 3 0 0 0 0 0 70 66 4 0 0 133 76.4%
e il mEER | Rk Hb L 110 42 68 0 0 0 0 114 61 49 0 0 0 0 3 1 53 53 0 0 0 132 85.2%
e B mEER | Bk Hb T BesR 147 30 116 1 0 0 0 150 36 112 1 0 0 0 1 0 114 114 0 0 0 8.7 76.4%
e i mEER | Bk Hb L 91 34 53 2 0 2 0 93 6 84 2 0 0 0 0 1 87 87 0 0 0 8.9 84.3%
e flamEER | Bk Hb SR 6K (MFICU) 44 5 31 8 0 0 0 46 31 13 2 0 0 0 0 0 15 15 0 0 0 36 85.3%
e flamhEER | Bk Hb 2 S REF IR 79 5 72 2 0 0 0 74 8 62 1 0 0 0 0 3 66 59 7 0 0 8.3 61.0%
e L EE P e B 1 AR Gl 3) 53 38 8 2 1 0 4 52 41 8 2 0 0 1 0 0 11 11 0 0 0 4.6 88.5%
e U e Bl e o B 1 AR Gl 4) 57 22 15 8 2 0 10 57 46 4 3 0 0 0 4 0 11 11 0 0 0 5.1 75.4%
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L& WEMmEER L& E4 R 4F IR 128 30 94 1 3 0 0 127 81 44 0 1 0 1 0 0 46 46 0 0 0 1.9 106.7%
= WEREER |ILEE4ERR SFR# 359 39 309 5 6 0 0 362 15 334 3 0 1 2 7 0 347 346 0 1 0 55 118.0%
= WEMBER |ILE B4R 6F R 162 10 137 2 13 0 0 165 14 129 7 5 2 2 6 0 151 148 0 3 0 14.2 110.3%
=y WETEER |ILE B4R URLE 187 4 180 1 2 0 0 199 6 178 9 1 1 0 4 0 193 192 0 1 0 8.5 119.0%
= WETEER |{LE B4R SFRH 286 21 249 9 7 0 0 291 23 250 11 1 2 2 2 0 268 266 0 2 0 6.6 119.5%
= WETEER |{LE B4R OFfmHR 162 32 123 4 3 0 0 163 18 136 6 0 0 1 2 0 145 145 0 0 0 8.3 103.0%
L= WEREFER |[ILEE4ERER 1058 166 19 129 5 3 0 0 161 53 104 2 1 0 0 1 0 108 108 0 0 0 11.3 109.2%
ile WETBTER [ILE&EE Rk 1 1R 172 26 138 0 8 0 0 173 19 145 0 0 2 3 4 0 154 154 0 0 0 6.2 111.6%
file IWEMmSER |ILE B4R AFEdEEE 56 52 4 0 0 0 0 56 55 0 1 0 0 0 0 0 1 1 0 0 0 24 88.4%
= IWEMmEER |ILE E4 R OFfEiaE=E 25 18 7 0 0 0 0 25 24 1 0 0 0 0 0 0 1 1 0 0 0 4.4 94.3%
= WEmHER |IUE E4 R EHG2FEREEE 125 74 37 13 1 0 0 122 117 1 0 0 0 0 4 0 5 5 0 0 0 4.6 101.2%
= WETEER |[EEEABEAS KEERE — R 25 0 15 9 1 0 0 23 0 15 5 0 0 1 2 0 23 23 0 0 0 8.3 28.0%
(= WemSER | T0—FBH EARLE 19 0 18 1 0 0 0 18 0 17 1 0 0 0 0 0 18 14 0 3 1 79.4 96.1%
= WemSER | T0—F5H F 2R 8 0 8 0 0 0 0 7 0 7 0 0 0 0 0 0 7 3 0 1 3 160.0 93.4%
= WEMTER | To—&B5H R 14 0 14 0 0 0 0 14 0 14 0 0 0 0 0 0 14 14 0 0 0 87.8 99.6%
ilE WWETHER | JILTBUE NI EREEEHERE L8Rk INEIN 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 of— 0.0%
ile WWETHER | JILTBUE NI EREEEHERE L8Rk EARLE VA 108 5 98 4 1 0 0 102 4 94 1 0 1 1 1 0 98 88 0 10 0 14.7 77.9%
ile WAEMEER |JILTEBUE NI EEKREEHEERE LERkR =1 RIR3ME 75 4 70 0 1 0 0 66 4 58 1 0 2 0 1 0 62 62 0 0 0 175 74.5%
= IETEER | JILTBUE NI EREEEHERE 1LE8Rk =1 RIRARE 96 1 87 3 5 0 0 93 4 81 3 0 1 1 3 0 89 89 0 0 0 12.4 74.7%
= WAEMEER | JILTBUE AR EEKREHEERE LERkR E AR 90 2 88 0 0 0 0 92 30 60 2 0 0 0 0 0 62 62 0 0 0 17.6 78.4%
= WETEER | JMITBUE A ERKEEHERE 1LERk 2R3 64 0 57 3 4 0 0 60 6 48 3 0 0 1 2 0 54 52 0 2 0 14.6 65.3%
& WEMEER | MILTBUE A IR EERREHERE 8RR F2RRAR 83 50 33 0 0 0 0 87 0 78 4 1 1 2 1 0 87 87 0 0 0 14.8 70.4%
= WETEER | I TBUE A ERKEEHERE 118Kk % 2fR1R0 M 102 0 89 9 4 0 0 97 7 79 7 0 1 2 1 0 90 90 0 0 0 12.9 79.3%
= WEMEER |JMITTBUE AIEEREHERE LERR 55 3 IRARE 104 2 96 3 3 0 0 102 11 83 6 0 0 0 2 0 91 91 0 0 0 14.3 78.4%
= WWETHER | REHR 1R 183 0 181 0 2 0 0 176 0 173 0 0 3 0 0 0 176 176 0 0 0 3.8 69.3%
ile WETETER BRI SR ERRE 36 5 17 2 0 12 0 37 3 33 1 0 0 0 0 0 34 34 0 0 0 6.7 98.9%
file WETHER |BHERIICELHER ICU 30 25 5 0 0 0 0 34 34 0 0 0 0 0 0 0 0 0 0 0 0 4.2 53.5%
= WETEER |BHEIICELKEE NICU 24 3 0 5 0 16 0 22 22 0 0 0 0 0 0 0 0 0 0 0 0 19.6 94.0%
L& IWETEER |BHEIICELKER GCU HCU 30 22 0 3 0 5 0 26 10 16 0 0 0 0 0 0 16 16 0 0 0 13.6 57.0%
= IWETEER |BRERICELHER M-FICU 20 17 0 3 0 0 0 19 0 19 0 0 0 0 0 0 19 19 0 0 0 7.8 79.5%
= WWETHER |BHEICELHER KEE2FERHR 100 10 89 1 0 0 0 100 9 89 1 0 0 0 1 0 91 87 0 4 0 6.3 63.4%
= WERBTER | BB IICELRT KREE3FERHR 127 22 102 3 0 0 0 114 15 98 1 0 0 0 0 0 99 90 0 9 0 6.7 61.7%
= WERmBTER | BB IICELR RERABEIRIR 113 6 106 1 0 0 0 123 9 113 0 0 0 0 1 0 114 101 0 13 0 6.5 67.6%
L= WEMBER | BB ICEERR PR EE 2 BRI 64 8 55 1 0 0 0 58 2 56 0 0 0 0 0 0 56 30 0 18 8 9.9 61.0%
= WETHER |FEHEBIICEHHEER M EE PSR IR 29 0 29 0 0 0 0 24 1 23 0 0 0 0 0 0 23 16 0 2 5 51.6 83.1%
file WEREFER |[EREANUVAER KRR — AR 48 15 13 13 7 0 0 45 18 10 0 0 5 4 8 0 27 8 0 0 19 24.2 74.1%
& WETEEK |EEEANUVAER KRR EERE 6 6 0 0 0 0 0 6 0 0 1 0 0 1 4 0 6 4 0 0 2 214.2 95.1%
= WETEER |[ERAFELXFESEESR RILLFRER AR LRI 45 35 6 4 0 0 0 42 0 35 1 5 0 1 0 0 42 42 0 0 0 20.8 65.6%
= IWETEER |[ERAFELXFESEESR RILLFRER ABEEEIRAR 86 6 79 1 0 0 0 94 1 87 3 0 2 0 1 0 93 91 0 2 0 9.9 73.1%
= WETHER |[ERAFBEHRFHEEEESR RIXFRKR SPEIb IR 143 1 141 0 1 0 0 153 1 148 2 1 0 0 1 0 152 152 0 0 0 6.0 65.4%
= WETHER |[ERAFEHFHEEGEESR FIQFRER SFE R IR 116 1 112 1 2 0 0 112 24 84 2 0 0 2 0 0 88 88 0 0 0 10.0 64.8%
= WETHER |[ERAHEHFHEEESE RILFRER EplaEsrY 96 1 93 0 2 0 0 99 3 94 2 0 0 0 0 0 96 96 0 0 0 7.6 61.9%
L=y WETBER |[ERABELFHEGESS RILLFHR FRAE BREEVA— 244 0 244 0 0 0 0 251 2 247 2 0 0 0 0 0 249 248 0 1 0 4.6 T74.7%
ile WETBER |[ERAFBERFEESEESSR RN FRER BFter4— 188 0 99 7 0 82 0 198 0 198 0 0 0 0 0 0 198 198 0 0 0 75 111.7%
ile WETHER |[ERAFBELFEESEESS FILLFRER S B B IR 56 2 50 2 2 0 0 53 8 44 0 0 0 0 1 0 45 44 0 1 0 11.3 86.0%
= WETHER |[ERABELXFESEESS EILNFFER ABEERRIR 15 8 1 6 0 0 0 14 3 9 1 1 0 0 0 0 11 11 0 0 0 61.0 78.7%
& WEREFER |[EFREALNS B LRERE — R 40 0 20 20 0 0 0 44 0 32 4 2 1 0 5 0 44 32 0 3 9 26.6 57.7%
= WERBTEK [JRILE R EXE 50 0 49 1 0 0 0 47 6 40 0 0 1 0 0 0 41 41 0 0 0 10.7 47.4%
& WERBTEK |[JRILE R F4RH 51 2 46 0 3 0 0 57 4 48 2 0 2 0 1 0 53 52 0 1 0 9.6 42.6%
& WERBTEK |[JRILE R EEE 17 12 5 0 0 0 0 20 0 14 0 2 0 3 1 0 20 19 0 1 0 250 36.8%
= WEmBFER |[JRILE R EASE 66 2 63 0 1 0 0 78 4 69 1 1 0 2 1 0 74 73 0 1 0 9.0 46.8%
= WeamHER |[JRILAHE B7RR 30 2 23 1 4 0 0 30 4 22 0 2 0 2 0 0 26 25 0 1 0 18.9 51.2%
ilE WEREFER |1 LARABERIIEBERER ABERRIR 22 12 0 10 0 0 0 29 6 16 2 2 1 2 0 0 23 22 0 1 0 68.7 81.5%
ile WEREEK |1 LARPEBRIIEBEREER SRR 95 1 78 14 2 0 0 98 14 50 4 8 1 2 1 8 84 83 0 1 0 13.1 74.3%
= WEMmSER |1 LAXBRE ISR AR BFERIR 69 10 44 12 3 0 0 68 3 43 6 3 1 0 3 9 65 64 0 1 0 21.1 86.5%
= IETEER | HMITBUEAN FEERRELSEE RILF XKk [4RERE 84 37 47 0 0 0 0 66 0 54 6 4 0 2 0 0 66 66 0 0 0 21.3 77.4%
= WWETEER | MITBUEAN FEERFELESEE RIH XKk [CRERE 47 0 46 0 1 0 0 49 0 42 3 2 0 0 2 0 49 48 1 0 0 16.4 84.7%
= WETEER | MITBUEAN FEERELXESEE FIFXER |SEHEE 138 1 137 0 0 0 0 148 0 137 3 0 1 0 7 0 148 146 0 2 0 9.6 70.4%
= WWETHER |MITBUEAN FEBERELSEE RILFXFER [SEERE 69 0 66 0 3 0 0 60 0 51 6 3 0 0 0 0 60 60 0 0 0 211 78.9%
= WETHER | MITBUEAN FEBERELZ2EE RALFX KR [SEERE 90 0 90 0 0 0 0 91 0 86 4 1 0 0 0 0 91 91 0 0 0 11.9 86.8%
= WETHER | MITBUEAN FEBERELZL2EE RILFX KR [4RERE 72 0 72 0 0 0 0 57 0 53 4 0 0 0 0 0 57 57 0 0 0 240 89.0%
L= WETBHER | FILTBUEAN FEERELRESHE FILF XK (SMREERE 104 0 103 1 0 0 0 110 0 104 3 1 0 0 2 0 110 110 0 0 0 12.6 85.1%
ile WWETBHER |HMITBUEAN FEERRELRSHE FILF KR [SREERE 160 0 160 0 0 0 0 148 0 144 4 0 0 0 0 0 148 148 0 0 0 7.6 72.2%
ile WWETHER | MITBUEAN FEERRELSHE FILF KR (ORERE 75 0 73 2 0 0 0 72 0 68 1 2 0 0 1 0 72 72 0 0 0 155 89.9%
= IETEER | MITBUEAN FEERRELESHE RILF XKk |7TRERE 118 0 116 0 2 0 0 124 0 117 2 1 1 1 2 0 124 124 0 0 0 9.2 82.3%
= IETEER | MITBUEAN FEERFELESEE FILF XKk |7RERE 81 0 81 0 0 0 0 67 0 63 2 0 0 0 2 0 67 67 0 0 0 13.4 88.0%
= WWETEER | HMITBUEA FEERELRESHE FHXHER |[HCURE 30 23 7 0 0 0 0 33 33 0 0 0 0 0 0 0 0 0 0 0 0 48 54.3%
= WETEER |FEILERE D2 4 3 0 1 0 0 0 1 0 0 0 0 0 0 1 0 1 1 0 0 0 5240 98.1%
= WemSER |HIlEREk D3 4 0 0 4 0 0 0 3 0 0 0 0 0 0 3 0 3 3 0 0 0 408.2 97.9%
L=y WeamSBER |HIlEwKEk D4 1 0 0 1 0 0 0 1 0 0 0 0 0 0 1 0 1 1 0 0 0 488.8 98.2%
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L& WEHEER |FEILERE D5 2 0 0 2 0 0 0 5 0 0 0 0 0 3 2 0 5 2 0 0 3 718.2 98.4%
& LEmSER | FkRkk bt 28 0 27 1 0 0 0 29 0 24 2 3 0 0 0 0 29 29 0 0 0 18.0 53.8%
= WEMEER L& R ITHEE i EE T 7 R 12 0 2 10 0 0 0 11 0 5 0 1 0 4 1 0 11 1 5 5 0 36.4 56.4%
= WEMEER |ILE R THEERE BEERE 4 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 105.3 53.4%
= WEMEER | —RMEEARITSE NRMEERR =R (B R AERAR0T) 47 2 25 7 13 0 0 47 2 20 4 6 1 8 6 0 45 29 1 13 2 258 88.9%
= WEMEER | —RMEEARTE NERHEERR Pu B AR ([E118 Bk BESR#R01) 19 2 0 17 0 0 0 20 2 15 0 1 0 2 0 0 18 0 5 13 0 66.2 92.9%
L= WEMRK |LlEHEMN=mHEEE HCU 30 20 8 1 1 0 0 30 26 0 1 0 0 0 3 0 4 4 0 0 0 43 72.7%
ile WEMRK |IlEHEMN=mREE 271K 39 6 27 1 5 0 0 46 9 19 11 1 1 4 1 0 37 36 0 1 0 223 81.5%
file WEMRK |ILEHEMN=HEE RET L5 60 7 43 0 10 0 0 55 3 38 4 2 4 4 0 0 52 48 1 3 0 17.7 47.8%
= WEFRK |ILIEHEMN=HEE 3FEFFIR 91 7 73 0 " 0 0 90 6 70 3 1 1 6 3 0 84 84 0 0 0 13.7 70.0%
= WEFRK |IIEHEMN=HEE AHRIR 104 3 92 0 9 0 0 102 6 79 6 3 4 4 0 0 96 96 0 0 0 11.9 76.9%
= WEMRE [IEHENERER AFRRIR 109 13 80 3 13 0 0 112 10 79 5 3 0 11 4 0 102 102 0 0 0 13.2 78.8%
= WEmRRE LEEN=REERE 6 FERIR 25 4 18 2 1 0 0 20 0 16 2 0 0 1 1 0 20 12 0 8 0 28.8 68.8%
= IWEMRX |EEREZAMAR HRRE 75 3P IR 26 13 0 13 0 0 0 26 1 0 2 2 2 19 0 0 25 20 0 0 5 64.7 99.7%
= WEMRK |EfEAMRHS #HEFER 75 2P AR 91 17 65 9 0 0 0 84 6 67 4 2 0 1 4 0 78 67 0 0 11 18.8 98.6%
= WEMRK |EFEAMHS #MHER B 2BEEIR 58 1 57 0 0 0 0 54 20 29 3 1 0 0 1 0 34 31 0 0 3 141 98.4%
ile WEMRK |RyEV)=vY BEERR 4 3 0 1 0 0 0 4 0 0 1 0 0 0 3 0 4 4 0 0 0 2943 99.5%
= WERRK |RrEs)=vy — R 12 0 9 2 1 0 0 17 3 7 4 0 0 0 3 0 14 14 0 0 0 84.9 84.5%
= WERRK |EEEAN REENERE — AR 77 0 73 0 4 0 0 170 85 0 77 1 2 2 3 0 85 85 0 0 0 1.0 4.9%
= WEMRK |EHERANBFHHMBILEERSBR 22— SFERRIR 101 5 84 2 10 0 0 100 91 5 1 0 1 0 2 0 9 7 0 2 0 3.1 53.3%
= WEMRE |EHERANBFHHMBILEERRR T 2— 3EHCURTR 13 12 1 0 0 0 0 13 13 0 0 0 0 0 0 0 0 0 0 0 0 3.2 40.6%
& WEMRE |EHERABFHHEMBIISBESRFEEVY— |4BHER 92 45 45 1 1 0 0 93 8 74 4 2 2 3 0 0 85 81 0 4 0 11.7 61.7%
= WEMRX |EHERANEFHHREMEILSEERSRFE 24— SRR 106 53 50 0 3 0 0 101 3 80 4 2 4 5 3 0 98 92 0 6 0 9.3 56.7%
= WEMRK |MRER RPRHEkE B PREFEHR IR 118 0 59 34 25 0 0 115 0 57 23 12 2 10 1 0 115 1 0 10 104 6.1 55.5%
L= WEMRK |ARMEEANEHE LR RER PR 49 1 41 6 1 0 0 55 20 29 4 2 0 0 0 0 35 0 20 9 6 20.0 64.8%
= WEMRK |ARMEEANETHEE S H=RER EXE 20 20 0 0 0 0 0 22 1 11 2 5 0 3 0 0 21 0 6 5 10 59.2 91.1%
& WAETERHE |y B AL iR I fmHE 4 2 1 1 0 0 0 4 0 1 0 0 0 1 2 0 4 3 0 1 0 2556 88.4%
& MEFERSE [ B AL R I fR%E 26 4 10 10 2 0 0 22 5 8 0 4 1 1 3 0 17 14 0 2 1 28.3 75.4%
L& WAEHERHE |y E AL TR JIIFEsY 74 1 46 0 0 27 0 63 1 56 6 0 0 0 0 0 62 62 0 0 0 75 71.6%
& WETERSE [ Fr E AL fREE V fR1E 45 0 33 9 3 0 0 42 7 29 3 0 2 0 1 0 35 31 0 4 0 16.7 71.8%
W& METERSE | F 4 AL PR TRFN7 7 fRAR 12 7 4 1 0 0 0 11 0 1 0 0 0 0 10 0 11 11 0 0 0 427 78.2%
= amEnsE | B &KAILER5R EARE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2.1 0.1%
= wanmEnsE | B EKILERET E2mH 84 0 84 0 0 0 0 98 0 98 0 0 0 0 0 0 98 98 0 0 0 52 19.6%
L= WETERSX | PIERHTE ABERIR 104 0 67 5 32 0 0 104 19 47 10 10 2 9 7 0 85 80 3 2 0 15.2 103.0%
ile WEHmERSX | IBRHET SFERIER 103 0 72 8 23 0 0 105 22 47 12 7 9 4 4 0 83 73 7 3 0 16.2 108.5%
= WaHmERSX | FIBREE BFE IR 42 40 0 2 0 0 0 39 0 29 1 9 0 0 0 0 39 39 0 0 0 35.2 99.8%
& amERSX | % HRk — AR 2 0 0 1 0 0 1 2 1 1 0 0 0 0 0 0 1 1 0 0 0 2315 87.2%
= amEEER | RILER R K FRE BARHR 206 0 205 1 0 0 0 206 0 202 1 0 0 1 0 2 206 183 10 11 2 13.8 86.6%
= amEEER | RILER R K FRE 4 AFRIE 145 0 145 0 0 0 0 147 0 139 1 1 2 0 4 0 147 143 0 4 0 8.4 86.9%
= WahEEHK | RILERER K FRE 4CHRIR 120 0 114 2 4 0 0 131 1 117 2 0 2 0 3 6 130 118 0 6 6 11.7 81.3%
= WahERHEK | RILERER K FRKRE S5ARHE 116 0 112 0 4 0 0 127 0 117 1 2 0 0 4 3 127 116 1 7 3 11.3 91.7%
= WamERHEK | RILERER K FRE 5BYR & 121 0 114 3 4 0 0 127 0 106 8 4 0 1 3 5 127 115 0 7 5 8.9 73.7%
L=y WamENER | BRI ER R KFEHEER 5CHH 50 0 49 1 0 0 0 52 0 33 12 1 0 0 0 6 52 45 1 0 6 215 81.8%
ile WamERHX | BRI ER R K FR0 6B 138 2 134 1 1 0 0 137 0 121 4 0 0 0 10 2 137 125 5 5 2 12.4 81.0%
ile amEmHR | RILER R KX FR0 6CHRIE 82 0 80 0 2 0 0 93 0 73 14 1 0 1 1 3 93 81 1 8 3 15.0 65.9%
= wanEEHR | BILERER X FHRET ICUfF 1 50 0 50 0 0 0 0 48 1 38 2 0 0 1 2 4 47 37 1 5 4 3.6 70.5%
= WAHERHE [ M TBUEAE L REEBILSERE 24— BTEEtC2— 127 35 88 4 0 0 0 123 93 27 3 0 0 0 0 0 30 30 0 0 0 79 63.1%
= WahEEHEK | MITBUEABILRREEILIEER V42— BFEEt2—(NICU) 8 1 0 0 0 7 0 5 3 2 0 0 0 0 0 0 2 2 0 0 0 13.3 40.5%
& WATENSR [ TBUEAELLREEBILSERE 24— INRRE 141 7 133 0 0 0 1 139 24 110 2 1 0 1 0 1 115 114 0 0 1 43 47.7%
S WAHENSR [ MITBUEAELLREEBILSERE 24— H2MERE 76 21 53 1 1 0 0 85 51 31 3 0 0 0 0 0 34 33 0 1 0 17.6 91.5%
= WAHENSR [ TBUEAEILREERBILISER T 24— 2R AR 80 37 39 2 2 0 0 75 35 36 4 0 0 0 0 0 40 36 0 3 1 14.7 88.5%
= WATmENSR I TBUEABILREEBILSER T 24— ERlE 85 22 63 0 0 0 0 83 49 31 3 0 0 0 0 0 34 32 0 2 0 15.6 91.7%
ilE WEHEHHK | JRILITBUEAE LR EILEER Y 2— 75 SRR 211 23 181 4 2 0 1 209 104 104 0 0 0 0 1 0 105 97 0 7 1 5.7 72.0%
ile WAEHERHE [ M TBUEAELAREERILEEREY 24— HARRE 74 32 42 0 0 0 0 79 60 19 0 0 0 0 0 0 19 16 0 2 1 12.2 76.9%
= WAEHERSE [ M TBUEAE L AREERILSEREY 24— FHA PR 99 22 76 0 1 0 0 103 37 65 1 0 0 0 0 0 66 65 0 1 0 10.5 78.6%
= WAHERHE [ M TBUEAELLRREEBILSERE 24— 755 PR AR 64 15 48 1 0 0 0 59 30 28 0 0 0 0 1 0 29 28 0 1 0 22.8 84.4%
= WAHERHE [ M TBUEAELLREEBILSERE 24— HOMERE 93 32 49 1 1 0 10 92 49 35 0 0 0 0 0 8 43 26 0 3 14 13.0 77.7%
= WATERSR M TBUEAELLREEBILSER T 24— FEOPE R 94 26 68 0 0 0 0 102 44 57 0 0 0 0 1 0 58 55 0 3 0 12.9 90.7%
= WAHENSR [ MITBUEAEILREEBILSER T 24— Hangaty2—(Rakal) 94 16 72 3 2 0 1 100 89 8 1 0 0 0 2 0 11 7 0 1 3 25 76.6%
= WATENSR I TBUEABILREEBILISER T 24— B Aty 2—(Rakad) 15 1 13 0 1 0 0 13 9 1 0 0 0 3 0 4 4 0 0 0 54 77.9%
= WATmENSR I TBUEAEILREEBILSER T 24— Hakatr2—EFEEF4) 16 16 0 0 0 0 0 12 12 0 0 0 0 0 0 0 0 0 0 0 0 39 79.2%
L= WETEHHK | JRILITBUEAE LR EILEER Y 2— Fa SRR 54 16 38 0 0 0 0 65 42 22 0 0 0 0 1 0 23 22 0 1 0 16.8 88.4%
ile WETEHHK | JILITBUEAE LR E LS ER Y 2— Fa bR (SCU) 12 9 3 0 0 0 0 9 9 0 0 0 0 0 0 0 0 0 0 0 0 6.6 89.2%
= WamERHE | M TBUAAELAREEBILEERE 24— FEOPERIR 57 24 32 1 0 0 0 60 49 8 3 0 0 0 0 0 11 8 0 3 0 17.2 79.6%
= amERSX | ARk 29518 10 8 0 2 0 0 0 9 0 3 1 0 1 0 4 0 9 4 3 2 0 19.4 8.9%
& WemERHX | & Rk 3R 30 0 11 14 5 0 0 31 8 10 1 0 3 7 2 0 23 2 10 11 0 43.0 80.4%
= WATERHER | AU EEAUETERE 2—IlE4F—T Rk  |BE6k 131 34 93 4 0 0 0 138 2 126 2 0 2 1 5 0 136 129 0 5 2 8.6 81.4%
= WahERHE | AR EEAMIETMERE A —IIEA—TEk  [CH2kE 225 34 180 7 4 0 0 225 207 11 2 0 0 2 3 0 18 14 0 2 2 53 68.1%
= WanmERSR | ARMEEAMUIETER Y 2—Il&4 —T Kk |BE2FEICU 30 13 15 2 0 0 0 27 24 1 0 0 0 0 2 0 3 3 0 0 0 4.0 71.4%
L=y WarEEHE | M EEAMIETERE 2—IIEA—T Um0k B3 118 31 86 1 0 0 0 118 12 98 4 0 0 1 3 0 106 100 0 2 4 11.8 85.0%
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L& WEmERSE [ ARMREAMIETEEREZ 2—UEF—T Kk |BE3FEHCU 12 10 2 0 0 0 0 12 12 0 0 0 0 0 0 0 0 0 0 0 0 10.7 89.5%
= WamERHR | AU EEAMUETERC 2—IE4A—T KRk |BEARE 151 41 108 2 0 0 0 146 10 128 2 0 2 0 4 0 136 94 0 40 2 8.3 81.1%
= WATERHER | AR EEAUETERE 2—IlE4F—T Kk |BELE 151 57 90 4 0 0 0 151 5 129 7 1 2 4 3 0 146 131 0 8 7 8.5 80.0%
=y WahERHE | AR EEAMIETMERE A —IIEA—TmEk  [CHBI1E 76 0 74 1 1 0 0 78 44 27 0 0 1 0 6 0 34 23 0 11 0 0.7 28.0%
= WanhERSR | ARMEEAMUETER Y 2—IlE4—T %Kk |CHER2p&ICU 19 10 8 1 0 0 0 17 14 0 0 0 0 0 3 0 3 3 0 0 0 6.1 67.3%
= WanmERER | AR EIEAUETER Y 2— &4 —T Kk |CH3k 106 54 51 1 0 0 0 109 3 90 4 1 6 0 5 0 106 93 0 9 4 8.8 75.5%
L= WaTERHK | N EFEAMIETERE 2—IIE4 —T fHEk  |CB4RE 149 58 90 1 0 0 0 157 8 139 1 1 1 6 1 0 149 142 0 6 1 8.3 72.5%
= WamEsBE | AMPEEAMIETERE 2—IIEA—T VKR  |CH4REHCU 24 22 2 0 0 0 0 24 23 0 0 0 0 0 1 0 1 1 0 0 0 56 93.2%
file WamERSE L& R HENEHER 2BEFRIR 90 46 42 2 0 0 0 89 46 34 3 0 0 0 6 0 43 0 0 0 43 13.3 75.4%
= WamERSE L& RN RN EHER SPEIR 94 0 67 24 3 0 0 89 46 34 3 0 0 0 6 0 43 6 0 0 37 11.6 81.9%
= IlETERR | BALER ER K PE KEG #Zta 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0|— 0.0%
= WETERK | RILER R X FEKEER el 135 2 129 2 2 0 0 131 12 116 0 2 0 0 1 0 119 116 0 3 0 9.7 73.7%
(= ETERK | RILER R X FEKER 4 ATRRE 39 0 33 5 1 0 0 42 9 25 2 2 1 0 3 0 33 25 0 6 2 20.7 77.9%
= WETERK | RILERFER X FEKREER Sl 103 8 88 4 3 0 0 100 7 88 0 2 0 1 2 0 93 80 0 11 2 16.2 82.1%
= WETERK | I ER R KFE KR i AIE 7 7 R 22 19 0 3 0 0 0 20 1 13 1 2 3 0 0 0 19 6 0 11 2 26.3 69.7%
ilE WETERK |FEEREARES ILEBERINRREER R 58 0 56 2 0 0 0 60 15 43 1 0 1 0 0 0 45 45 0 0 0 20.8 55.3%
ile WETERK |FEEREARES ILEBERINRREER FEARIR 57 0 53 3 1 0 0 52 15 36 1 0 0 0 0 0 37 36 0 0 1 211 53.3%
= WERERK |FEEREABESR ILABRNRRER BT 31 0 30 1 0 0 0 29 0 27 0 1 0 1 0 0 29 28 0 1 0 359 67.5%
= WERERK |EEEAGRITOES &P RER BEERE 11 0 1 10 0 0 0 11 0 0 0 2 0 0 9 0 11 11 0 0 0 119.3 96.4%
= WERERK |[EEEAMERICE ARERER — AR 91 0 85 3 3 0 0 93 0 84 1 2 2 2 2 0 93 93 0 0 0 79 87.3%
= WWamERR |EFREAMESTCR JAREER EERE 2 0 0 2 0 0 0 2 0 0 1 0 0 0 1 0 2 2 0 0 0 180.8 99.0%
& WEMABR L& T ILRER ICU(an2) I/ i 47 18 22 1 5 0 1 48 34 0 1 0 0 0 13 0 14 14 0 0 0 46 63.5%
= WEMABR L& T ILRER ICUCKFE3) im 1R 28 11 13 1 3 0 0 29 21 0 1 0 0 0 7 0 8 8 0 0 0 4.6 63.5%
= WaEmARBR |IUE T HEeE HCUR# 182 4 168 2 8 0 0 183 133 27 18 0 1 1 3 0 50 48 0 2 0 4.1 81.6%
L= WERABK [ILE ™ IRER NICUsE# 9 2 0 0 0 7 0 12 5 6 1 0 0 0 0 0 7 7 0 0 0 8.9 30.9%
ile WERABK |[ILE ™ ILHER GCUsm#R 5 0 0 1 0 4 0 4 2 2 0 0 0 0 0 0 2 2 0 0 0 154 17.7%
file WEMmABK |UE I HEeE SRR 130 11 117 0 2 0 0 131 7 112 8 0 0 3 1 0 124 122 0 2 0 7.0 80.1%
= WEMmABK |UE IR SR FE AR 105 14 76 0 0 15 0 103 3 95 5 0 0 0 0 0 100 100 0 0 0 8.6 78.0%
L& EMmABK |UE IRk B B AR 180 44 136 0 0 0 0 173 2 143 26 0 0 2 0 0 171 171 0 0 0 53 76.2%
= WEamABR |U& H IRk B FE R AR 39 27 12 0 0 0 0 42 0 28 10 1 0 0 3 0 42 41 0 1 0 26.3 95.4%
= WEMABR L& T ILHER THEERE 108 27 80 0 1 0 0 105 2 61 40 0 1 0 1 0 103 100 0 3 0 11.3 87.3%
= WEMABR L& T ILER TEFERE 127 29 96 1 1 0 0 129 4 102 21 1 1 0 0 0 125 124 0 1 0 8.6 75.6%
= WamARBR |IU& T IHEeE BREE A 159 8 150 0 1 0 0 165 4 142 17 1 0 1 0 0 161 160 0 1 0 7.3 75.6%
L= WERABK |[ILE T IRER ] =i sy 63 41 21 0 1 0 0 64 4 22 31 1 1 0 5 0 60 60 0 0 0 211 80.5%
ile WERABK |ILE ™ IHER OFE BRI 126 32 93 0 1 0 0 120 7 97 12 1 0 0 3 0 113 108 0 5 0 9.0 83.7%
= WERABK [IUE ™ IHER OB PRI IR 75 14 55 3 3 0 0 84 3 50 24 2 0 5 0 0 81 81 0 0 0 145 82.6%
= WWEmABAR | — KRBT EEANLER KRR 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0|— 0.0%
= WERmABR | —MRMEEANLRES KR B AR 5 0 1 4 0 0 0 4 0 1 3 0 0 0 0 0 4 3 0 1 0 5546 56.2%
= WERmABR | —MRMEEANLRES KR £hiaEmR 117 50 63 4 0 0 0 122 113 6 0 0 0 0 3 0 9 3 0 0 6 2.1 52.5%
= WWamAaR | —BREEEANLER LEREkR fzEp 7= yk 43 37 6 0 0 0 0 43 41 0 1 0 0 0 1 0 2 1 0 0 1 6.2 98.8%
= WWaEmAEAR | — R EEANLER LERER 1R 127 70 55 2 0 0 0 119 33 65 19 1 0 1 0 0 86 0 0 0 86 12.3 91.9%
= WETABER | — BB EEANLER LEREER 2[R 103 47 52 4 0 0 0 114 17 74 22 0 0 1 0 0 97 0 0 0 97 13.2 75.5%
L=y WETABR | R HEMEEAN BHEERHS RATHEET 2R 94 0 46 46 2 0 0 63 15 32 5 3 2 4 2 0 48 39 7 2 0 17.2 87.0%
ile WETABAR |ARBFEEAN BHELH RERER Fa 3R 20 7 0 13 0 0 0 16 0 10 1 2 3 0 0 0 16 16 0 0 0 130.4 149.7%
= WERABK | A BRMEEAN EHELERHS RAFER Fa4 PR IR 18 7 0 11 0 0 0 16 0 9 2 4 0 1 0 0 16 16 0 0 0 80.2 97.4%
= WEmABK L& KR+ FKbk 4BEARRR(GCU) 15 10 1 1 0 3 0 18 3 15 0 0 0 0 0 0 15 15 0 0 0 22.5 77.2%
= WemABK L& KR+ FRbk 4BEARRER(NICU) 13 0 1 2 0 10 0 9 9 0 0 0 0 0 0 0 0 0 0 0 0 26.5 97.6%
= WEMABR L& TR+ FRkt 7B ARRIR 69 2 64 1 2 0 0 74 18 47 3 0 0 3 3 0 56 54 0 2 0 15.2 43.4%
& WEMABR L& IR+ FiRkE 7 BEBIR IR A 50 21 0 0 0 0 74 0 69 0 2 0 3 0 0 74 71 0 3 0 13.1 19.8%
& WEMABR L& TR+ FiRkE 4FEBRIR 135 15 64 4 0 52 0 141 5 135 1 0 0 0 0 0 136 136 0 0 0 9.9 100.2%
= WemARBR |IlE R+ FRkk 4BEBm A (MFICU) 17 4 3 10 0 0 0 16 15 1 0 0 0 0 0 0 1 1 0 0 0 7.8 77.2%
= WamARBR |Il&E R+ FRkk Sl A 4 64 2 1 0 0 68 33 31 2 1 1 0 0 0 35 32 0 3 0 15.8 35.7%
ilE WEMABR L& IR+ FiRkE B AR 114 0 114 0 0 0 0 113 0 112 1 0 0 0 0 0 113 113 0 0 0 7.6 49.7%
ile WWEmABR |[ILE R+ FHEkE BREBF IR 103 6 94 0 3 0 0 98 4 89 2 2 0 1 0 0 94 92 0 2 0 9.9 38.2%
= WamABK |IU& R+ FRb Sl 86 2 80 2 2 0 0 88 8 70 1 1 0 2 6 0 80 78 0 2 0 10.8 36.2%
= WETABAR | HMILTBUE A ERKEEHERE LemRik |2t 2—(ABRRyY) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0|— 0.0%
= WWETABAR | HMITBUE A ERKEHERE LEmFEk [4RERE 75 0 69 4 2 0 0 66 5 47 0 2 2 2 8 0 61 56 0 5 0 15.8 66.2%
= WWETABAR | HMITBUE A ERKEHERE LEmREk [4RERE 46 26 14 6 0 0 0 33 0 23 4 0 3 2 1 0 33 24 0 9 0 221 61.1%
= WETARBAR | HMITBUE A ERKEHERE LEmREk  [SEERE 65 0 55 5 5 0 0 68 8 51 3 1 0 2 3 0 60 58 0 2 0 16.3 64.2%
= WEMABR |JMITTBUE A MISEEKAEH ERE (LEmRk |[SEERE 47 0 42 2 3 0 0 45 3 31 3 2 0 4 2 0 42 34 0 8 0 224 68.2%
= WEmABR |[EFEEANZE+F HEBTEREE BEERBEAR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 736.5 98.7%
L= WERABK |[EEEAZE+T HETERE EEREBE 2 0 0 1 1 0 0 1 0 0 0 0 0 0 1 0 1 1 0 0 0 420.0 97.3%
= WERABK |[EEEAZE+T HEATERRE BEERRCHE 5 0 0 2 3 0 0 2 0 0 1 0 0 0 1 0 2 2 0 0 0 486.6 98.2%
ile WERABK |JRILTBUE A E IR EIL S 752 E iRl Bl -2 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0 0 0 0 0 0 0 435.7 94.0%
= WEMABR |JRILTBUE A E IR EIL S A2 E iRk 22— 1 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 635.3 95.7%
= WEMABR |JILTBUEAE IR EIL S A2 E iRk BE3— 1w 1 0 1 0 0 0 0 2 1 0 0 0 0 0 1 0 1 1 0 0 0 666.9 95.9%
= WAEMABR |JILTBUEAN B IR EIL S B2 iRk PR 2BER R 21 11 10 0 0 0 0 19 6 12 1 0 0 0 0 0 13 11 0 2 0 554 68.3%
= WEMABR |JILITBUEAN B IREEEIL S AL B iRk o R SRR 27 0 20 4 1 0 2 24 0 22 0 0 0 1 1 0 24 15 3 6 0 421 65.7%
= WEMABR |MILTBUEANEIREEEILS AL B iRk P RABERIR 26 21 3 2 0 0 0 31 0 29 0 1 1 0 0 0 31 27 0 4 0 36.0 65.8%
L=y WEMABR | MILTBUEAE IR EEILS L B iR PR ERERE 63 6 55 2 0 0 0 56 30 24 2 0 0 0 0 0 26 26 0 0 0 18.2 71.8%
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L& WERABR | JILTBUE A E IR EILS A2 E iRk R LB IR 46 0 45 0 1 0 0 47 7 39 1 0 0 0 0 0 40 40 0 0 0 23.1 71.1%
= WEMABR |JILTBUEAE IR EIL S A2 E iRk Bl —1HmH 6 1 0 0 0 0 5 5 0 0 0 0 0 0 0 5 5 0 5 0 0 335.3 91.9%
= WWETABR | I TBUEAEILFEREEBILE AL ERk B2 — 29" 2 0 2 0 0 0 0 2 0 2 0 0 0 0 0 0 2 0 0 2 0 8045 96.4%
= WEMABR |JILTBUEA B IR EILE AL EiRk B3 — 2/ 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 1 0 1 0 0 13074 98.5%
= BEM NIEHFENBBHEE B ITE SRR ICUSR & 53 15 31 1 0 0 6 53 48 1 1 0 0 0 3 0 5 5 0 0 0 3.7 94.1%
= BEM NS EENBBHEE B RITRE SRR AR 137 0 124 1 10 0 2 138 108 28 2 0 0 0 0 0 30 29 0 1 0 2.6 55.8%
L= EEm NIEEARE N E S A = RS A R iR SFERIER 24 12 3 9 0 0 0 22 1 20 1 0 0 0 0 0 21 21 0 0 0 62.1 94.6%
ile g™ NI FENEREE G IRBE R ABERRIR 101 0 62 1 0 37 1 106 1 101 4 0 0 0 0 0 105 105 0 0 0 6.8 93.0%
file EEE™ A EENEHEE G IRB AR SRR 113 39 63 2 2 0 7 105 15 77 7 3 0 1 2 0 90 88 1 1 0 13.3 96.9%
= EET NHEFAENERHEE B ITEE R BFERIR 108 26 80 0 1 0 1 105 9 93 1 0 1 0 1 0 96 94 2 0 0 15.2 99.0%
= mEm NHEHHENBRHEAE B ITR SRR 7R 108 42 62 1 3 0 0 102 10 78 3 0 0 3 8 0 92 87 3 2 0 14.9 103.0%
= BEm AEFEENEWEEHRITREHER ClER 98 33 61 1 3 0 0 97 12 75 2 0 2 3 3 0 85 76 0 9 0 15.2 103.0%
(= BEm NS HENBBHEA B RITE SRR Sl 90 33 56 0 1 0 0 91 6 73 2 1 3 0 6 0 85 81 2 2 0 16.0 106.3%
= BEM NEBHENBRHEEBRITB SRR 10B&RHR 87 14 70 3 0 0 0 82 4 66 4 0 0 1 7 0 78 77 1 0 0 12.9 90.2%
= BEM BEMIIRER SRR 40 21 19 0 0 0 0 47 4 33 1 2 1 5 1 0 43 40 3 0 0 216 80.2%
ilE g™ BB IR EE S 58 3 54 0 1 0 0 61 28 17 3 1 1 1 10 0 33 30 3 0 0 18.1 86.3%
ile g™ BB IR ABEPERRIR 89 9 79 1 0 0 0 86 11 72 1 0 1 0 1 0 75 74 1 0 0 13.0 81.3%
= BB BB IR SBEFEIR 62 13 49 0 0 0 0 57 3 49 0 2 0 0 3 0 54 52 0 2 0 18.9 91.7%
file EET IRATRBT — iR 52 0 39 4 9 0 0 46 0 35 4 1 2 0 4 0 46 39 0 3 4 21.2 81.1%
= BEm TRARBT BEERE 5 5 0 0 0 0 0 6 0 3 1 2 0 0 0 0 6 1 0 3 2 77.3 81.7%
= ZEm BEHEINAEYZ— B 76 1 75 0 0 0 0 76 6 68 0 0 0 0 2 0 70 67 3 0 0 13.6 75.3%
& ZEm EREIINAE A~ 3PEFERIR 100 28 68 4 0 0 0 97 31 62 4 0 0 0 0 0 66 63 3 0 0 10.2 60.1%
= ZEm EWEIINAE A~ ABEERIRIR 72 0 70 2 0 0 0 69 1 66 2 0 0 0 0 0 68 68 0 0 0 16.3 73.7%
= ZEm EWEIINAE A~ ABEPERIR 82 24 58 0 0 0 0 81 24 55 2 0 0 0 0 0 57 55 2 0 0 11.5 57.2%
L= ZE EWEIINAEZ— JEE ST 99 18 81 0 0 0 0 96 17 76 2 0 0 0 1 0 79 75 4 0 0 11.3 65.1%
ile ZE BEWEIINATER— SBE PR IR 78 1 71 5 1 0 0 78 6 68 0 0 0 0 4 0 72 71 1 0 0 14.3 71.8%
file ZE EHERIINAEZ— QT 57 2 50 4 1 0 0 60 2 53 2 0 0 0 2 1 58 58 0 0 0 19.7 74.7%
= ZE EHERIINAEZ— HCUs= 1R 65 65 0 0 0 0 0 66 66 0 0 0 0 0 0 0 0 0 0 0 0 2.0 50.9%
L& ZE EHEBRINAEZ— RN T IR 24 14 8 2 0 0 0 22 0 1 1 0 0 0 20 0 22 21 1 0 0 241 72.8%
= & ET RILERERKTE LIFRE 124 ER M RER AR 17 0 8 3 6 0 0 22 0 7 2 2 0 5 6 0 22 15 0 0 7 56.0 62.8%
= ZEEM |[EEEZABEEHS ILERERE SFEFIR 9 9 0 0 0 0 0 11 3 0 2 1 0 3 2 11 8 1 2 0 1725 88.2%
= ZEEM |EEEZABES ILERESRE ABEIRIR 30 1 4 21 3 0 1 41 13 5 2 3 2 1 15 0 28 20 4 4 0 48.2 73.4%
= BT |EREAEES LERESHER SFE AR 33 4 10 13 5 0 1 33 1 22 2 2 1 4 0 1 32 17 0 13 2 35.8 75.8%
L= F=priiT) HWAEEEIHEER EQEE 79 5 69 1 4 0 0 90 23 57 3 0 1 1 5 0 67 65 0 2 0 16.4 94.4%
ile F=pro ) A mEILERE H2H 24 11 1 12 0 0 0 25 1 17 5 1 0 1 0 0 24 24 0 0 0 59.6 96.2%
file F=pro) WA rEIRERE H3H{H 62 3 49 0 10 0 0 67 11 39 4 1 1 0 11 0 56 56 0 0 0 214 95.2%
= =8 WA RILRER R 81 2 74 0 5 0 0 73 18 43 5 0 3 2 2 0 55 50 1 4 0 15.2 90.8%
= E=p] HwEmEIRE Bl 130 3 119 4 4 0 0 122 8 97 9 0 5 0 3 0 114 111 2 1 0 9.5 87.6%
& =8 HWEmEIRE BRG] 42 39 3 0 0 0 0 40 1 26 1 5 3 2 2 0 39 38 1 0 0 25.2 92.9%
= &A™ RAXEEBRIE 2[R 126 1 67 0 0 58 0 133 0 133 0 0 0 0 0 0 133 133 0 0 0 6.8 76.9%
= kil AXLERAEGR SFERE 58 0 58 0 0 0 0 54 1 51 2 0 0 0 0 0 53 53 0 0 0 6.5 30.7%
= a8 R R ENEE 10 3 5 2 0 0 0 8 0 0 0 0 0 0 8 0 8 8 0 0 0 107.2 67.5%
L=y EA™ LBEINE)T—aV iRk 2[R 15 0 0 15 0 0 0 16 0 13 2 0 1 0 0 0 16 16 0 0 0 84.3 87.6%
= EAT™ BINE)T— 35wk PRI 11 0 0 11 0 0 0 12 1 8 3 0 0 0 0 0 11 11 0 0 0 86.1 87.1%
flia EAT™ = A IR BEFEOT 1 0 0 1 0 0 0 4 0 0 2 0 0 0 2 0 4 4 0 0 0 2481 42.6%
file EA™ = A IR EEHFER02 6 5 0 1 0 0 0 3 0 0 2 0 0 0 1 0 3 3 0 0 0 300.4 77.8%
= EA™ = A PSRk — AR 48 0 31 6 11 0 0 61 5 32 3 2 1 0 8 0 56 42 10 1 3 20.9 68.4%
= EEERILSTAT | JRILATBUE A B IR RS B R AR o LR AR 2 B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2153.0 98.3%
& B IRER L STHT | $ 37 fTBUE N E LR E R iR AR AR 1 B 5 0 5 0 0 0 0 5 0 4 1 0 0 0 0 0 5 0 0 0 5 3344 98.5%
& BEEEDILITAT | JRILATBUE A B IR RS B IR AR AR R 3 B 15 7 5 3 0 0 0 10 4 5 0 0 1 0 0 0 6 3 0 3 0 951 77.1%
= BEEEDILSTAT | JRILATBUE A B IR = R AT AR R R A R 78 0 54 8 16 0 0 76 32 34 4 1 2 2 1 0 44 35 2 7 0 17.8 71.6%
= EEEDILSTAT | JRILATBUE A B IR S = R iR FHafiR 11 5 2 4 0 0 0 8 0 3 1 2 0 0 2 0 8 4 0 4 0 147.6 75.5%
= BRI TR | SR T BUE A BN RE = Rl FabRiE 26 24 1 0 1 0 0 23 0 17 2 2 1 1 0 0 23 11 0 12 0 38.9 69.3%
ile A SET | #A SRR BERR 2 1 0 0 0 0 1 3 1 0 1 0 1 0 0 0 2 0 0 0 2 258.7 92.1%
= A ST | A B YR — AR 64 0 56 3 3 2 0 52 1 38 3 5 0 1 4 0 51 22 24 2 3 18.0 72.9%
= EEEAFE |EREAERE s EF R SPEFIR 147 0 145 2 0 0 0 138 0 133 4 0 0 1 0 0 138 138 0 0 0 8.9 60.5%
& EWEABAE |EREAERS s WER R ABERIR 63 0 60 1 2 0 0 64 0 56 6 0 0 2 0 0 64 64 0 0 0 20.4 89.7%
= EIEBFIATET | 'S W AT HOR =R R 71 0 43 15 13 0 0 69 13 33 10 0 8 3 2 0 56 45 1 10 0 13.2 63.4%
= EIHEF AT | B A R SRR 4BERIR 17 13 0 3 1 0 0 14 0 0 6 3 1 1 3 0 14 11 0 3 0 85.1 84.1%
= 2 EBAFNET | A3 R )Rk 1R 74 22 37 14 1 0 0 63 8 44 4 1 4 0 2 0 55 51 4 0 0 17.5 72.5%
= 2 EBAFNET | A3 R )Rk 2951 85 3 78 1 3 0 0 81 30 40 5 0 5 0 1 0 51 51 0 0 0 12.7 66.0%
= 2B AFNAT | 237 2)IJEk 3FE 20 16 0 4 0 0 0 17 3 12 1 0 1 0 0 0 14 13 1 0 0 70.2 80.5%
PNGRETIE FIRm BRI E IR AR 45 0 36 0 9 0 0 43 5 29 2 1 1 0 5 0 38 34 1 3 0 27.0 77.2%
UNEEY EIR B R S EHIRDT BimiE 50 0 36 3 1 0 0 55 7 33 3 2 8 1 1 0 48 29 5 14 0 17.7 71.6%
NG EIR™ E R I B R BERE 12 12 0 0 0 0 0 13 0 6 1 2 3 0 1 0 13 7 0 6 0 57.0 87.6%
INGRE IS FIR FERm I E R A REE SFEEFRA 46 24 22 0 0 0 0 50 3 37 0 1 2 3 4 0 47 45 0 2 0 20.8 65.9%
NGRE I FR FRMIERPRBFER SFEFERE 79 5 57 6 11 0 0 77 16 48 0 0 0 5 8 0 61 53 0 8 0 13.0 66.1%
NGREIE FIR BRI ER A LR 4BEPEIRIR 89 7 64 1 17 0 0 90 13 46 4 3 3 6 15 0 77 74 0 3 0 15.6 81.8%
PNGEETIE FIRM R ILER A LR 4BEERIRIR 99 15 81 1 2 0 0 104 18 73 1 2 0 2 8 0 86 81 0 5 0 14.4 77.2%
PNGEREIE FIRm™ ER I ER A LR SR TR 63 1 50 7 5 0 0 75 24 47 1 0 1 2 0 0 51 50 0 1 0 16.9 70.0%
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BINALLBRIAAL | BIAAU|BRINA
e |TEUHER et Pa 2 ik I e e | S5, 00 | 55, 1| ) il PR S ey | 35 1 |55 | PR AR HASEN| ol f | BEGM | EREE | mras || D EREN | SmABEE
(IhAm)| o | 2 KE AR DR BRI 55 B0 | 55, 20| Tgmy | o | OO FE g g SLRE BRI ey | s 05 T (HERERIBEGRE (37RO #1957 | FHOR
IDOERIE NSD AR Fﬁb\gzo)ﬁn Eﬁaib[g%bo) DOHE it At ~iRRE B ~ B RERI=A | HERIZA S s ftt (1»AR]| BpEts B FOERE =
7T BT BT ARR )

Klg- R EIR™ BRI R LR SFEE R 30 29 0 1 0 0 0 31 7 10 2 7 1 0 4 0 24 20 0 4 0 33.7 48.8%
NGEE I e FR I R ERIE — MR 26 2 13 6 5 0 0 31 4 19 2 2 0 0 4 0 27 27 0 0 0 233 57.6%
K- R EE FIR I EERERT BERE 7 7 0 0 0 0 0 5 2 3 0 0 0 0 0 0 3 2 1 0 0 93.8 71.1%
K- R ER™ EEEAGHLAER AERER BEERE 17 3 0 10 4 0 0 16 6 3 2 0 1 0 4 0 10 10 0 0 0 1224 98.8%
KGR ERm BRI RS PRBR T2 — SFERE 29 0 27 0 2 0 0 31 0 27 2 0 1 0 1 0 31 31 0 0 0 9.9 19.4%
KIE - BEJR KU —REEEAN A EwE — SRR 14 0 2 5 7 0 0 18 4 4 0 7 0 0 3 0 14 4 3 7 0 515 81.8%
KIE-FEJR K —EEAN F ek BEERR 4 4 0 0 0 0 0 4 0 0 0 0 0 0 4 0 4 4 0 0 0 308.7 55.0%
PNEEY N1 —EEAN EBRR — AR 7 0 1 5 1 0 0 22 0 5 0 0 0 10 0 7 22 7 2 0 13 1.0 1.2%
PNRE I KB —WEBAREN (e BRRRR EERRR 10 0 4 4 2 0 0 16 0 4 1 0 0 7 0 4 16 7 0 0 9 1.0 0.7%
KIgs - E R N KN ERRRESE 9 5RE 3P R (— M) 39 0 18 14 7 0 0 41 12 15 2 0 7 1 4 0 29 17 12 0 0 22.0 63.1%
Klg- E R N KN ERRRESE DR ABERROEERR) 15 12 3 0 0 0 0 10 0 3 ) 0 0 1 1 0 10 10 0 0 0 490 58.2%
Kl - R K Kl BJRkREA H 1L 5 R — R AR 39 0 27 3 9 0 0 50 0 30 7 0 5 2 6 0 50 43 2 5 0 18.7 69.3%
NRE I K R — IR PR 3FE 54 5 40 6 3 0 0 62 0 50 6 5 0 0 1 0 62 58 3 1 0 124 83.8%
PNGEE I KIgH 52 BERR — IR R 20 96 0 83 9 4 0 0 91 5 60 17 3 0 0 6 0 86 85 0 1 0 12.3 86.8%
KIg - R N1 EEEAN HtH #Ex =HRR SRR (EERK) 3 3 0 0 0 0 0 4 0 0 0 0 0 1 3 0 4 4 0 0 0 171.7 83.5%
RIE - R PN EREAN #H BEx =HEk 2R (— M R) 57 0 45 11 1 0 0 52 3 38 1 0 1 2 7 0 49 46 3 0 0 17.0 87.1%
KIE - R N1 K1 AR RS TR R 72 B — MRt 44 0 15 19 8 0 2 42 13 17 2 0 0 3 7 0 29 27 2 0 0 17.8 57.8%
KIgs- EJR KT KNigH RRRS FRER5R EIEHANE)T— 3 R 9 9 0 0 0 0 0 13 1 10 0 2 0 0 0 0 12 12 0 0 0 71.2 76.8%
PNGRE I PN KN ERREE FRRDGRE EEEERE 5 5 0 0 0 0 0 7 0 3 1 0 0 0 2 1 7 6 1 0 0 69.5 35.0%
Kles- R Kl Kl RRkR ABEEERER(GCU) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0|— 0.0%
NGRE I NG PNGLER B PR IR 23 0 22 1 0 0 0 17 1 14 1 0 0 0 1 0 16 16 0 0 0 27.2 80.0%
NI N K1 R T FFE & B ERE(SICU) 31 31 0 0 0 0 0 32 31 0 0 0 0 0 1 0 1 1 0 0 0 3.6 25.1%
K- BEJR N1 K1 R RE BERE (BB AR ) 104 11 84 4 5 0 0 105 87 16 1 0 0 0 1 0 18 18 0 0 0 2.4 43.4%
KIg - B R N1 KIg i1 R FE KRR RARTR4) 39 4 33 1 1 0 0 36 33 0 0 0 0 0 3 0 3 3 0 0 0 3.9 57.6%
KIE - R N i) NG AlERH ApgEEmER (NICU) 8 0 1 4 0 3 0 11 5 5 1 0 0 0 0 0 6 6 0 0 0 16.7 75.8%
KIE - R N1 NG AlEREH ABEER AR 112 4 54 6 0 48 0 114 4 108 2 0 0 0 0 0 110 110 0 0 0 6.6 109.3%
KIgs- EJR K Kl BRke AREPE IR 182 4 176 1 1 0 0 180 5 172 1 0 0 1 1 0 175 175 0 0 0 4.2 65.1%
KIgs- R N Kl BRkR ABEFERBE N AREREEMI) 81 4 76 1 0 0 0 84 0 82 2 0 0 0 0 0 84 84 0 0 0 3.2 42.8%
Kl - R N Kl RRkR SR 99 31 64 1 3 0 0 110 9 59 37 1 0 1 3 0 101 101 0 0 0 1.7 80.5%
Kl - BEJR N Kl R MR SR PRI 88 6 77 4 1 0 0 97 4 73 11 0 0 0 9 0 93 90 0 3 0 8.8 75.4%
NI N K1 R e B 140 39 94 7 0 0 0 138 16 113 5 0 0 0 4 0 122 120 0 2 0 10.2 87.4%
NRE I N i) K1 R e 6 F& PR IR 85 19 61 3 2 0 0 94 3 57 34 0 0 0 0 0 91 91 0 0 0 14.3 85.9%
KIg - BEJR KU NGRS TPERFHR 139 51 86 1 1 0 0 139 20 86 32 0 0 1 0 0 119 118 0 1 0 9.7 84.1%
KIg - R N i) NG AlEH TBEPEEIR 1563 22 128 1 2 0 0 156 8 136 8 0 1 1 2 0 148 148 0 0 0 8.7 86.9%
NG NG Al 1 SRR eI 101 5 94 1 1 0 0 98 4 86 4 0 0 0 4 0 94 93 0 1 0 8.7 81.6%
KIgs- EJR KT EEEAKICE KI-L2FRE 2B AR 53 1 44 6 2 0 0 61 2 42 7 0 0 2 8 0 59 58 0 1 0 11.9 63.7%
KIgs- R N EEEAKICE KI-E2FR 3R 112 2 109 0 1 0 0 115 1 112 1 0 0 0 1 0 114 114 0 0 0 9.6 63.7%
KIS - ZEJR KIEF T NEHREAEHEEH S &)IRERR 2B R 29 9 13 7 0 0 0 27 10 10 0 0 5 0 2 0 17 14 3 0 0 454 76.6%
KIS - ZEJR KIEF T NEHREAEHEEH S &IRERE 3R 11 11 0 0 0 0 0 12 9 0 2 0 0 0 1 0 3 3 0 0 0 135.5 97.5%
K- R N RSS2 e BERE 27 0 20 5 2 0 0 20 0 13 4 3 0 0 0 0 20 20 0 0 0 41.2 59.6%
NRE I K EREHI IR 3PEFERIR 11 0 0 11 0 0 0 8 1 0 1 0 0 0 6 0 7 7 0 0 0 67.7 10.8%
KIg - R KB EREHI IR B 7 1 1 5 0 0 0 5 1 0 0 0 0 0 4 0 4 4 0 0 0 72.9 11.4%
KIg - R N i) EREH I HRER ABEPERIR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0of— 0.0%
KIE - R N i) ERH I H KM ABEER AR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 of— 0.0%
KIgs- EJR K EfkdHd HRkE SPEPRRIR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0|— 0.0%
PNGRE I PN EEHT IR SR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0|— 0.0%
PNERE S EREHEAE |[EREAMEEICE ERERE 1 5 0 2 3 0 0 0 2 0 1 1 0 0 0 0 0 1 0 0 1 0 340.2 79.9%
NGRE I EAEHAE RO ERBERRRR ERRTE 51 1 34 9 7 0 0 49 9 26 1 2 7 3 1 0 40 31 9 0 0 17.6 72.5%
NGREIE EHEBEAE |RAERERRRRER E2/E 34 5 15 5 9 0 0 31 3 15 3 1 5 2 2 0 28 21 7 0 0 253 75.8%
NGEEIE EHEEEAE |RANERBRERRRER BERE 7 7 0 0 0 0 0 6 1 1 2 0 0 0 2 0 5 4 0 1 0 129.5 86.5%
PNGEE I et EupvaapriiPeS — R AR 30 0 8 8 14 0 0 20 0 5 5 0 1 5 4 0 20 4 0 5 11 35.4 72.7%
KIg - B R et By I8 5 Bt B 1RE 32 10 3 9 10 0 0 31 9 0 0 4 0 4 14 0 22 22 0 0 0 59.9 99.7%
NG e By ler s fe EVACEES 17 9 0 4 4 0 0 18 10 0 1 5 0 1 1 0 8 8 0 0 0 96.8 93.6%
KIE - R £ FRET NI INFERBE — SRR 47 0 17 21 9 0 0 46 17 15 2 1 1 1 9 0 29 14 1 0 14 18.9 77.8%
KIgs-ER £ FRET NINERBR BERE 17 17 0 0 0 0 0 22 0 6 0 2 1 1 12 0 22 16 1 0 5 60.2 78.8%
BE-BX- SB|AEN EEEN B RABO(VLER FR 2R 22 21 0 1 0 0 0 22 2 12 2 4 0 2 0 0 20 18 1 0 1 70.7 97.8%
B BXSUE|AET EEEAN B ABEO(VILER MR SRR 102 2 58 39 3 0 0 109 44 59 3 1 1 0 1 0 65 65 0 0 0 17.4 84.6%
a5 B QIR AEH EEEAN Bl HEOMVILRER AR SRR 12 12 0 0 0 0 0 8 0 1 0 1 1 0 5 0 8 8 0 0 0 170.8 93.2%
BB SB[ HET EEEN B AEOMVILER 7R 13 10 1 2 0 0 0 11 0 1 0 1 1 0 8 0 11 10 0 1 0 143.3 93.1%
5Bk SB[ HET EEEAN #tH CHRx BERER 2ASRIR 94 0 34 39 20 0 1 64 35 15 4 5 0 0 5 0 29 26 3 0 0 18.3 85.6%
5Bk SB[ HET EEEAN HtH CHAx BERER SARE 42 23 10 2 6 0 1 27 0 18 3 0 4 0 1 1 27 23 3 1 0 27.0 84.4%
A% EX-SIB|GET EEEAN #F TR BEERE 2BmE 18 3 0 15 0 0 0 15 0 14 0 1 0 0 0 0 15 15 0 0 0 871 89.7%
A% EX-SIB|GET EEEAN M T BEHERE EXE 12 10 0 0 2 0 0 15 1 1 3 4 0 0 6 0 14 13 0 1 0 145.7 93.3%
B ER-SIUE|AET HEMILRR SP&EE 56 4 48 3 1 0 0 52 10 33 7 1 0 0 1 0 42 42 0 0 0 16.8 59.4%
B EXSUE|AET HEMILRR SRS 62 8 49 4 1 0 0 67 8 49 6 1 0 0 3 0 59 59 0 0 0 16.4 46.1%
B BXSUE|AET AEMILRR =] 3 3 0 0 0 0 0 9 1 2 0 1 0 1 4 0 8 8 0 0 0 46.8 5.0%
a5 B SIB|AEH HEMILRRR BRE R 29 1 25 3 0 0 0 22 2 12 1 1 0 1 5 0 20 19 1 0 0 13.2 51.7%
B BX-SIE|AETH AEMILRGE 7B 20 7 12 0 1 0 0 18 2 8 0 0 0 0 8 0 16 15 1 0 0 20.3 30.3%
a5 B SR AETH AERTFRE HCU 19 15 4 0 0 0 0 11 7 0 3 0 0 0 1 0 4 4 0 0 0 11.6 34.6%
A% BX-KUB|ASET BERTFRE 3FEER 140 34 105 0 1 0 0 157 17 135 3 0 2 0 0 0 140 140 0 0 0 10.8 98.9%
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- rEgms - \ _ O s | By | WEeh | Gt Efox \
e |TEUHER et Pa 2 ik R 55, 0 | 55, Nk il PR P AP JEeN . HASEN| ol f | BEGM | EREE | mras || D EREN | SmABEE
(A o | 05 FE B D R ik 20| Tht) | ot | 55 AR e TARE | EMEE I TREN Grilap 05 T0 |LERER gL ToFE0 R8T | FHOR
IDOERIE LCYOYN Fﬁb\gzo)ﬁn Eﬁaib[g%bo) it At ~IRFE RERI=A | HERIZA S s fth (1AM Brexs = EDEE =
5T Fr A ARR )
B BX KB |AEH BER+FHEE 3PEEE 206 2 189 4 0 1 0 224 6 212 4 0 0 0 1 1 218 218 0 0 0 59 73.0%
B BXSUE|AET AERTFHRRE AREER 97 29 66 1 1 0 0 91 8 60 22 0 1 0 0 0 83 83 0 0 0 14.0 95.8%
a5 B QIR AEH BERTFRE AREPE 121 19 100 2 0 0 0 125 7 88 25 0 0 2 3 0 118 118 0 0 0 11.2 90.7%
a5 B QIR AEH BERTFRE bREER 121 19 101 0 1 0 0 132 7 116 8 0 1 0 0 0 125 124 0 1 0 10.8 89.0%
% BX-RUB|HET AERTFRE bPEPE 173 27 143 3 0 0 0 176 7 151 10 0 3 2 3 0 169 169 0 0 0 9.5 91.1%
A% BX-KUB|AEET BERTFRE GRS R 76 12 63 1 0 0 0 77 5 65 7 0 0 0 0 0 72 72 0 0 0 144 94.8%
A% EX-SIB|GET BERTFRE ST 91 22 67 1 1 0 0 93 7 73 6 0 0 2 5 0 86 85 0 1 0 14.2 94.9%
A% EX-SIB|AET BER+FRHEE b3k 101 19 82 0 0 0 0 104 9 82 8 0 0 0 5 0 95 95 0 0 0 12.3 94.5%
B BRSIE|EET BERTFRE ICU-CCU 57 35 22 0 0 0 0 49 42 3 1 0 0 0 3 0 7 7 0 0 0 6.0 81.1%
B BX KB AEH BB R+FHEER BRI 133 0 133 0 0 0 0 137 110 12 2 0 0 0 13 0 27 27 0 0 0 5.1 85.4%
B BXSUE|AET HENIHERR SR — R 20 0 20 0 0 0 0 20 0 18 1 0 0 0 1 0 20 17 3 0 0 11.2 29.3%
a5 B SIB|AEH EEEANMEEE<AERERRR 2FERIR 16 2 4 9 1 0 0 17 4 6 0 2 0 0 5 0 13 5 0 0 8 89.6 93.0%
a5 B QIR AEH EEEANMEEE<AESRERRR 3P 13 3 3 6 1 0 0 17 3 5 1 1 1 0 6 0 14 6 0 0 8 1254 96.2%
A% BX-SIEB|AETH EEEZANHEEERAESRERRR ABEIRIR 16 2 0 14 0 0 0 16 0 11 1 2 1 1 0 0 16 0 0 0 16 91.2 99.0%
BBk SUB(SALET  |SILBT IR SFERIR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 of— 0.0%
BBk QB (SLET  |KILBT IR 1B R 57 3 50 3 1 0 0 59 4 40 12 1 1 0 1 0 55 55 0 0 0 19.9 70.3%
BE BXSUB[(KALET [ KABT IR 2FEFE R 93 7 82 3 1 0 0 91 1 84 3 1 0 0 2 0 90 90 0 0 0 13.6 71.5%
BB SAB|KAE™ SALB T ILRRE 3P E AR 167 1 129 0 0 7 0 168 4 160 3 0 0 0 1 0 164 35 129 0 0 6.8 79.2%
B2 SAGB|AET SALB T ILRBE 3P 85 1 83 0 1 0 0 83 2 68 4 1 1 1 6 0 81 78 0 3 0 10.3 62.1%
B BX KA KALBT SLB T I REE 4P E R 77 4 69 2 2 0 0 85 1 70 3 3 0 0 8 0 84 82 0 2 0 1.9 81.3%
B 2K SR |SULET  |RILBTILER 4BEPEIRIR 61 2 57 1 1 0 0 65 5 36 14 1 0 0 9 0 60 60 0 0 0 16.6 59.6%
52X SR |SUET  |SIBTILER 4B IbR IR 90 7 78 1 4 0 0 90 8 55 6 3 0 0 18 0 82 80 0 2 0 171 86.2%
BB SR (SIET | EERRER AR 20 0 15 3 2 0 0 29 0 23 2 2 0 0 2 0 29 9 0 0 20 436 67.6%
BB SR (SALET [ KKRFER AR 38 0 31 5 2 0 0 33 0 29 2 2 0 0 0 0 33 31 0 1 1 34.8 109.4%
BBk SUB|SIET |RIBT LA SKEL — &Rt 36 0 25 5 6 0 0 33 0 18 2 4 1 1 7 0 33 21 6 6 0 17.9 45.6%
B BX KB B KT EirREEIHER ERRTE 4 4 0 0 0 0 0 5 5 0 0 0 0 0 0 0 0 0 0 0 0 65.0 22.6%
BE-BX QB EXT EirEREEIHER gt 22— 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 276.0 8.6%
BE-BX- QB EXTT EirREMEIHER FIA—TNIr 7R 2—1F-2F 3 3 0 0 0 0 0 2 2 0 0 0 0 0 0 0 0 0 0 0 0 349.3 75.4%
BE-BEKSUE| B KT EirEEmEIHER BIA—TIIr 7 2—3F 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 450.8 64.8%
B BX SUE| B KT EirEEmEIHER FEA—TNT TR A— 2 2 0 0 0 0 0 2 2 0 0 0 0 0 0 0 0 0 0 0 0 1332.7 54.8%
a5 B QIR B KT EirgEEmEdtER — & 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 598.7 7.0%
B BX-SUE|EXKTH BEARMIIKARER 2/ 1R 53 0 43 0 10 0 0 50 0 33 3 11 0 0 3 0 50 28 14 6 2 19.0 64.4%
A BX- QB | EXKT BAXMIIE BRI — s 67 0 47 5 15 0 0 66 7 29 6 2 2 0 10 0 59 50 2 3 4 17.8 54.6%
A% EX- QB | EXKT BN E BRk BEERR 7 0 0 0 0 0 7 0 1 0 1 0 0 5 0 7 6 1 0 0 128.2 98.4%
A EX-RIB|EXKT BN BT RRER FARRABERIR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 of— 0.0%
BEBX-SAB|EXT BN BT RRER AR AE 3P 24 0 23 1 0 0 0 22 2 IN 5 0 0 0 4 0 20 18 0 1 1 147 50.6%
BE-BX- QB EXT BN EXTRRER AREEA IR 56 2 43 8 3 0 0 64 2 48 5 2 0 2 5 0 62 58 1 2 1 135 66.9%
B BXSUE| B KT BN EXTRRER BB S PR 41 0 35 3 3 0 0 36 4 24 2 5 1 0 0 0 32 30 0 2 0 26.2 73.2%
B BX SUE|BEXT BN EXTRRER 7B 6 PR R 51 0 43 1 7 0 0 57 2 38 1 3 0 5 8 0 55 51 0 4 0 21.9 82.1%
a5 B QIR B KT BRI BT RFER FARE DR IR 28 15 13 0 0 0 0 31 0 27 1 0 0 0 3 0 31 29 0 1 1 14.7 51.4%
B BX-SE|EKT BEAMIIEXTRRER FARE6FERIR 8 8 0 0 0 0 0 8 0 6 0 2 0 0 0 0 8 7 1 0 0 57.8 69.2%
B BKSWB(RMET  |EERER 2-3pE 65 2 52 1 9 0 1 73 12 55 1 0 0 2 2 1 61 56 1 3 1 171 74.9%
BE-BXSUWE|ENET | EERERR FaA 9 8 0 1 0 0 0 12 0 3 1 2 1 1 4 0 12 9 0 3 0 140.7 88.1%
B EXSWBR|ENET  |[EERER [iic] =] 30 4 23 3 0 0 0 27 1 24 2 0 0 0 0 0 26 24 0 2 0 54.2 78.8%
B EX-SIB|ERET EEEANEE WGRHER R 75 0 71 1 3 0 0 72 0 57 1 0 1 0 3 0 72 70 2 0 0 12.4 50.7%
B BEXSUE|EMRET™ EEEAGE WERER 2B AR 48 0 46 1 1 0 0 42 0 28 13 0 0 0 1 0 42 41 1 0 0 11.8 42.7%
BB SAE | A SRR =T | 5 = [ERRT — MRt 78 0 53 12 13 0 0 81 22 39 2 11 4 0 3 0 59 51 8 0 0 15.6 85.0%
B BX- GE | AR =T | B = fESR Ik BERE 22 22 0 0 0 0 0 22 0 8 1 5 0 0 8 0 22 18 4 0 0 104.5 97.9%
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